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1 BIES 1kg 1 |®ES Pl 78| 1kg 2,160 1,944
2 |E:FE 1kg 2 |E=FE 1R T 324| 1kg 2,700 1,620
3 Kahvh 1kg 3 KA | mgul 52| 1kg 1,620
4 |SE Eig 180] 1kg 2,776 378| 4 |=1F 1kg
5 &L E-=% 156 1kg 3,132 713 5 |&HL kg
6 |LvbL FE 20| kg 486 6 |LybL 1keg
7 |F5HL0| BEH 218 1kg 972 648| 7 |FBHLIVH kg
SAE dtiEE 236| 1kg 4,320 2,052| 8 [SAFE kg
9 |ARY Ea-BE 27| 1kg 3,132 1,922] 9 |5Y 1kg
10 |&ZL kg 10 |&ZL 1kg
11 |28 Tkg 11 |26 Tkg
12 |f=Ly == 365 kg 1,404 918| 12 |f=Ly kg
13 |IFFL EH-ES 8| kg 1,080 540| 13 |[FFH 1keg
14 |[hhiy Tkg 14 |Ahis Tkg
15 (OB 1kg 15 (U5 itigiE 16| 1kg 4,320 3,240
16 | AN Tkg 16 | AN Tkg
17 |2Y AU RYT 8| kg 2,484 1,998] 17 |Z U 1keg
18 | PYLyA Ri& 20| 1kg 2,916 2,484| 18 [®YL v kg
19 |f=C itigiE 9] ke 3,240 19 |2 1kg
20 | Tkg 20 |vE Tkg
21 |HEY 1kg 21 |BHEY kg
22 | RAHWP 158 22 |\ XRHYP | KB 138 15 10,800 1,080
23 |HEEHP | B 200| kg 2,592 2,268| 23 |EEHD 1kg
24 | E B4 hE 290 kg 5,778 4,752| 24 |5%5F 1kg
25 |ISLFEF 1kg 25 |ISLFEF 1keg
26 |HFES 1kg 26 |HFES 1kg
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5| @B | B BEke| B | SfE | PE | RE || KB | B |BEKe | HEA| SiE PiE | RiE
1 |&aST Y7 -7Y 386] kg 2,646 1,836] 1 |{ESIT F-deimE 1,474| 1kg 1,598 810
2 |AhIz Y7 N by 24| kg 4,860 4,752 2 [EE Iy FE 326| 1kg 1,296 810
3 [BAY BY7-II7h 424 1kg 4,536 1,112) 3 |ifxAF | dbiEE 8| 1kg 1,652
4 [hFLDL|[B1R-F3 180| 1kg 1,156
5 [FAHL RI& 100] 1#& 130
6 [ bYDHA == 108| 1kg 2,808 2,646
1_|IhNEF Tkg




